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（1） 

力のつり合い 

 0=3PR+R EC － …① 

モーメントのつり合い 

0=R2P3R4P EC  －－ …② 

①②より 

 150NP
2

3
=RR EC ＝  

 

せん断力 

AC 間 100NP=F －－   

CD 間 0N5RP=F C ＋－  

DE 間 50NRP=F C －－  P  

EB 間 0N10RRP=F EC  P－  

 

せん断力図（SFD） 
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曲げモーメント 

AC 間 Nm100P=M xx －－   

CD 間 150Nm05)1(RP=M C －＋－ xxx   

DE 間 50Nm50)2()1(RP=M C  xxPxx －－  

EB 間 400Nm010)3(R)2()1(RP=M EC －－ xxxPxx   

曲げモーメント図（BMD） 
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（2） 

力のつり合い 

0=21R+R BC －  

0=4000R+R BC － …① 

モーメントのつり合い 

 0=5.01135.31   －－ DC RR  

 0=38000 DC RR － …② 

①②より 

 2000N=DC RR   

せん断力 

AC 間 N0002=F xx －－   

CD 間 0NR1=F C  ＋－  

DB 間 N80000002)3(RR1=F DC  xx －－   

せん断力図 
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曲げモーメント 

AC 間 Nm1000
2

=M 22 xx －－ 


 

CD 間 0Nm001)1(R)5.0(2000=M C －＋－  xx  

DB 間  

 

Nm1600000081000

2

)3(
)3()1(R)5.0(0002=M

2

2

C






xx

x
xRxx D

－　　

－　


 

曲げモーメント図 
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